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PHILOSOPHY — HONOURS
Paper : CC-4
(History of Western Philosophy - IT)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

1. Choose the correct option (any ten) :

(a)

(b

(c)

(d)

(e)

(H

(&)

Mind is passive when it receives simple jdeas. Whose idea is this?

(i) Hume i (i) Berkeley

(i) Mill (iv) Locke. =
The idea of substance, according to Locke, is

(i) simple idea (i) complex idea

(iii) factitious idea (iv) innate idea.

According to Locke ‘Three angles of a triangle is equal to two right angles’— is
(i) sensitive knowledge (i) demonstrative knowledge

(i) intuitive knowledge (iv) none of these.

“Matter is the sum total of ideas” is said by

(i) Locke (i) Berkeley
(i) Hume (iv) Mill
“The world is subject to God’s perception” is said by

(i) Kant (i) Leibnitz
(iiiy Locke (iv) Berkeley.
Berkeley thinks that the cause of our sensory ideas is

(i) innate idea (i) infinite mind
(iii) physical object _(iv) finite mind.
A proposition concerning relation of ideas is

(i) Tlove my pet parrot (i) The sun will rise tomorrow
(ifi) Grass is green () F5=l2
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(h) The true proposition concerning matter of fact is
(1) Denial of proposition concerning matter of fact is a self-contradictory proposition
(i) The proposition concerning matter of fact can be known through experience
(i) The proposition concerning matter of fact is an a priori proposition

(iv) The proposition concerning matter of fact is necessarily true.

() The philosopher, deeply influenced by Hume was

(i) Leibnitz (i) Mil
(i) Ayer (iv) Kant.
() The philosopher who holds that personal identity is a product of imagination is
(i) Locke (i) Berkeley
(iii) Hume (iv) Kant.
(k) “ntuitions without concepts are blind and concepts without intuitions are empty.” — Who says this?
@ Mil (i) Kant “
(i) Leibnitz (iv) Locke.
() “A priori propositions may not necessarily be analytic.” — Whose view is this?
(i) Locke (i) Hume
(i) Kant (iv) Descartes.
2. Answer in brief (any five) : 5%5

(a) What is the nature of substance according to Locke?

(b) Explain with examples Locke’s theory of complex ideas.

(c) How does Locke reject the theory of innate ideas?

(d) What does Berkeley mean by the statement “Esse est percipi”?
(e) Discuss, in brief, the role of God in Berkeley’s philosophy.

(f) What does Hume mean by antecedent and consequent scepticism?
(g) What does Kant mean by categories of understanding?

(h) What is Copernican Revolution? Discuss in brief.

3. Answer any fwo questions :
(a) What is representative realism? How does Locke seek to establish it? 3E12
(b) Is Berkeley a solipsist? Give reasons for your answer. 2+13

(c) How does Hume explain the relation between impression and idea? Discuss the main objections
raised against this explanation. 10+5

(d) How does Kant explain the distinction between analytic a priori and synthetic a priori? Explain
in this connection the nature of the proposition ‘7+5=12". 10+5



